1. always

2. plane P

3. point E

4. x = 21 and angle 1 is 87, angle 2 is 93

5. AC = 23 cm

6. reflexive

7. transitive

8. square root of 41

9. ( 3/2, 1 )

10. point S

11. angle ABC is 75

12. x = 41

13. x = 40, and y = 90

14. x = 17

15. x = 6

16. x = 10 and y = 35/3

17. x = 40/3

18.  x = 29 and angle DBC measures 29
19.  x = 1

20.  if it is not cloudy then it is not raining

21.  slope is -7/3

22.  slope is -1/8 and the perpendicular slope is 8

23.  x = 9

24. x = 14
25. angle 2 measures 49

26. x = 10

27. segment TN is congruent to segment TL

28. x = 12 and AC = 29

29. angle G

30. angle E

31. yes, because the sum of any two sides is greater than the third

32. QG

33. segment BC is congruent to segment DC

34. angle BAC is congruent to angle DAC

35. segment AC is perpendicular to segment BD

36. x = 9 and y = 41

37. segment TP is congruent to segment KO

38. angle A is congruent to angle E

39. segment GH is congruent to segment GJ

40. D

41. C

42. x = 13, and acute triangle

43. x = 21

44. x = 57

45. x = 45
46. measure of angle ABC is 30

47. x = 5 and QR = 37

48. x = -1

49. x = 6

50. x = 7
51. 4140

52. n = 72

53. x = 5 and y = 1

54. x = 62.5, angle 2 = 62.5, and angle 3 = 27.5

55. x = 4

56. DE = 8

